
 

ОТГОВОРИ НА ТЕСТА И ЗАДАЧАТА 

1. Б) 

2. Г)  

3. Б)  

4. А)  

5. В)  

6. Г)  

7. А)  

8. 6 пъти 

9. 10 

10. 5 

11. В)  

12. Г)  

13. В)  

14. 240 ученици 

15. 9 банкноти 

16. Г)  

17. Б)  

18. Г)  

19. А)  

20. 25 

Задача  

        малки риби  -                                            54 риби 

         големи риби  - 

   54 : 6 = 9 малки риби                              5т 

     9 . 5 = 45 големи риби                           5т. 

  Нико  1 + 4 + 7 = 12 риби взел                6т. 

  Кико  2 + 5 + 8 = 15 риби взел                6т. 

  Мико 3 + 6 + 9 = 18 риби взел                6т. 

         

       Отговор: Нико -12 риби взел; Кико -15 риби взел; Мико -18 риби взел.     2т 


